Bid Schedule A

Project No.: PRA-BLRI 1M19

Project Name: BLUE RIDGE PARKWAY BRIDGE OVER GLADE CREEK, SECONDARY ROUTES 658, 738 AND

State:VAOpened at:Sterling VACounty:BotetourtBy:J. Lowe

Date: 08/21/07

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Joanne Lowe

Title Contract Specialist Date: August 21, 2007

Contract Awarded to: Burleigh Construction Company Date: September 6, 2007

Contractor	Bid Amount	Responsive
Burleigh Construction Company Post Office Box 289 Concord, VA 24538	1,287,230.50	
Freyssinet, LLC 44880 Fakon place, Suiete 105 Sterling, VA 20166	1,374,794.00	
Orders Construction Company, Inc. 501 6th Avenue, P.O. BOX 1448 St. Albans, WV 25177	1,515,366.00	
Lanford Brothers PO Box 7330 Roanoke, VA 24019-0330	1,769,005.00	
Engineer's Estimate	1,200,000.00	

Date: 08/21/07

Bid Schedule A

Project No.: PRA-BLRI 1M19

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Burle	eigh Construction	Company	ALL	80,000.00	80,000.00
	sinet, LLC	•		134,130.00	134,130.00
Orde	rs Construction Co	ompany, Inc.		112,000.00	112,000.00
	ord Brothers			62,300.00	62,300.00
ENG	INEER'S ESTIMA	ATE		114,724.00	114,724.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Burle	eigh Construction	Company	ALL	35,000.00	35,000.00
Freys	sinet, LLC			17,474.00	17,474.00
Orde	rs Construction Co	ompany, Inc.		2,800.00	2,800.00
Lanfo	ord Brothers			10,000.00	10,000.00
ENG	INEER'S ESTIMA	ATE		28,000.00	28,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Burle	eigh Construction	Company	200	8.00	1,600.00
Freys	sinet, LLC			13.42	2,684.00
Orde	rs Construction Co	ompany, Inc.		4.80	960.00
Lanfo	ord Brothers			5.00	1,000.00
ENG	INEER'S ESTIMA	ATE		6.50	1,300.00
20103-0000	SQYD	CLEARING AND GRU	BBING		
Burle	eigh Construction	Company	3,000	8.00	24,000.00
Freys	sinet, LLC			4.61	13,830.00
Orde	rs Construction Co	ompany, Inc.		8.30	24,900.00
Lanfo	ord Brothers			8.00	24,000.00
ENG	INEER'S ESTIMA	ATE		3.05	9,150.00
55205-0000	SQYD	REPAIR CONCRETE			
Burle	eigh Construction	Company	10	3,500.00	35,000.00
Freys	sinet, LLC			1,829.00	18,290.00
Orde	rs Construction Co	ompany, Inc.		2,800.00	28,000.00
Lanfo	ord Brothers			1,200.00	12,000.00
ENG	INEER'S ESTIMA	ATE		600.00	6,000.00
55206-0000	CUYD	REPAIR CONCRETE			
Burle	eigh Construction	Company	2	14,000.00	28,000.00
Freys	sinet, LLC			5,382.00	10,764.00
Orde	rs Construction Co	ompany, Inc.		30,000.00	60,000.00
Lanfo	ord Brothers			6,000.00	12,000.00
ENG	INEER'S ESTIMA	ATE		2,600.00	5,200.00

Date: 08/21/07

Bid Schedule A

Project No.: PRA-BLRI 1M19

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
55210-0000	SQYD	SEAL CONCRETE SU	RFACE (CLEAN & SEA	AL)	
Bur	leigh Construction Co	mpany	880	42.00	36,960.00
Frey	ssinet, LLC			45.65	40,172.00
Ord	ers Construction Com	pany, Inc.		38.00	33,440.00
	ford Brothers			40.00	35,200.00
ENG	GINEER'S ESTIMAT	E		25.00	22,000.00
55503-0000	LNFT	BRIDGE EXPANSION	JOINTS (W/O LL's)		
Bur	leigh Construction Co	mpany	390	65.00	25,350.00
Frey	ssinet, LLC			11.70	4,563.00
Ord	ers Construction Com	pany, Inc.		95.00	37,050.00
Lan	ford Brothers			60.00	23,400.00
ENG	GINEER'S ESTIMAT	Е		50.00	19,500.00
56101-0000	LNFT	STRUCTURAL CONC	RETE BONDING		
Bur	leigh Construction Co	mpany	61	250.00	15,250.00
	ssinet, LLC			188.00	11,468.00
Ord	ers Construction Com	pany, Inc.		240.00	14,640.00
Lan	ford Brothers			40.00	2,440.00
ENG	GINEER'S ESTIMAT	Е		50.00	3,050.00
56302-2000	SQFT	PAINTING, STEEL ST	RUCTURE (METALIZA	ATION)	
Bur	leigh Construction Co		6,200	25.00	155,000.00
Frey	ssinet, LLC			53.35	330,770.00
Ord	ers Construction Com	pany, Inc.		18.00	111,600.00
Lan	ford Brothers			22.35	138,570.00
ENG	GINEER'S ESTIMAT	Е		45.00	279,000.00
56320-0000	LPSM	CONTAINMENT SYS	TEM AND WORKER PI	ROTECTION PLAN	
Bur	leigh Construction Co	mpany	ALL	50,000.00	50,000.00
Frey	ssinet, LLC			3,600.00	3,600.00
Ord	ers Construction Com	pany, Inc.		43,000.00	43,000.00
Lan	ford Brothers			77,246.00	77,246.00
ENG	GINEER'S ESTIMAT	Е		93,000.00	93,000.00
56401-0000	EACH	BEARING DEVICE			
Bur	leigh Construction Co	mpany	40	14,250.00	570,000.00
	ssinet, LLC	-		14,729.50	589,180.00
Ord	ers Construction Com	pany, Inc.		20,000.00	800,000.00
	ford Brothers			29,175.00	1,167,000.00
ENG	GINEER'S ESTIMAT	Е		10,000.00	400,000.00

Page 3

Date: 08/21/07

TABULATION OF BIDS

Bid Schedule A

Project No.: PRA-BLRI 1M19

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
61901-0000	LNFT	FENCE, CATTLE			
Bur	leigh Construction (1,000	11.00	11,000.00
	ssinet, LLC	. ,		9.33	9,330.00
•	ers Construction Co	mpany, Inc.		5.60	5,600.00
Lan	ford Brothers	•		14.00	14,000.00
ENC	GINEER'S ESTIMA	ATE		10.00	10,000.00
63401-0600	LNFT	PAVEMENT MARKING	GS, TYPE C, BROKEN		
Bur	leigh Construction (Company	3,800	1.40	5,320.00
Frey	ssinet, LLC			1.20	4,560.00
Ord	ers Construction Co	mpany, Inc.		1.70	6,460.00
	ford Brothers			1.10	4,180.00
ENG	GINEER'S ESTIMA	ATE		1.25	4,750.00
63502-1300	EACH	TEMPORARY TRAFFI	C CONTROL, DRUM		
Bur	leigh Construction (Company	52	140.00	7,280.00
Frey	ssinet, LLC			83.00	4,316.00
Ord	ers Construction Co	mpany, Inc.		56.00	2,912.00
Lan	ford Brothers			84.00	4,368.00
ENG	GINEER'S ESTIMA	ATE		96.50	5,018.00
63502-1600	EACH	TEMPORARY TRAFFI	C CONTROL, WARNII	NG LIGHT TYPE B	
Bur	leigh Construction (Company	52	175.00	9,100.00
Frey	ssinet, LLC			409.00	21,268.00
Ord	ers Construction Co	mpany, Inc.		610.00	31,720.00
Lan	ford Brothers			120.00	6,240.00
ENG	GINEER'S ESTIMA	ATE		160.00	8,320.00
63502-1700	EACH	TEMPORARY TRAFFI	C CONTROL, WARNII	NG LIGHT TYPE C	
Bur	leigh Construction (Company	52	130.00	6,760.00
Frey	ssinet, LLC			340.50	17,706.00
Ord	ers Construction Co	mpany, Inc.		310.00	16,120.00
Lan	ford Brothers			50.00	2,600.00
ENG	GINEER'S ESTIMA	ATE		70.00	3,640.00
63502-2100	EACH	TEMPORARY TRAFFI	C CONTROL, CRASH	CUSHION	
Bur	leigh Construction (Company	2	11,000.00	22,000.00
Frey	vssinet, LLC			16,159.00	32,318.00
Ord	ers Construction Co	empany, Inc.		14,000.00	28,000.00
Lan	ford Brothers			10,000.00	20,000.00
ENC	GINEER'S ESTIMA	ATE .		8,000.00	16,000.00

Date: 08/21/07

Bid Schedule A

Project No.: PRA-BLRI 1M19

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63502-2700	EACH	TEMPORARY TRAF	FFIC CONTROL, REPLAC	CEMENT CARTRIDG	ES FOR
Burle	igh Construction C	ompany	2	1,000.00	2,000.00
Freys	sinet, LLC			1,359.00	2,718.00
Ordei	rs Construction Cor	npany, Inc.		830.00	1,660.00
Lanfo	ord Brothers			1,500.00	3,000.00
ENG	INEER'S ESTIMA	ГЕ		1,700.00	3,400.00
63503-0400	LNFT	TEMPORARY TRAF	FIC CONTROL, CONCR	ETE BARRIER	
Burle	igh Construction C	ompany	2,500	35.00	87,500.00
Freys	sinet, LLC			8.51	21,275.00
Orde	rs Construction Cor	npany, Inc.		22.00	55,000.00
Lanfo	ord Brothers			9.00	22,500.00
ENG	NEER'S ESTIMA	ТЕ		30.00	75,000.00
63503-0500	LNFT	TEMPORARY TRAF	FIC CONTROL, MOVIN	G CONCRETE BARR	IER
Burle	igh Construction C	ompany	750	15.00	11,250.00
	sinet, LLC			6.00	4,500.00
Orde	rs Construction Cor	npany, Inc.		4.00	3,000.00
Lanfo	ord Brothers			9.00	6,750.00
ENG	INEER'S ESTIMA	ГЕ		11.00	8,250.00
63503-0700	LNFT	TEMPORARY TRAF	FIC CONTROL, PAVEM	ENT MARKINGS	
Burle	igh Construction C	ompany	4,150	1.60	6,640.00
Freys	sinet, LLC			1.56	6,474.00
Ordei	rs Construction Cor	npany, Inc.		3.60	14,940.00
Lanfo	ord Brothers			1.40	5,810.00
ENG	INEER'S ESTIMA	ГЕ		2.50	10,375.00
63503-0800	LNFT	TEMPORARY TRAF	FIC CONTROL, PAVEM	ENT MARKING REM	IOVAL
Burle	igh Construction C	ompany	4,150	2.75	11,412.50
	sinet, LLC			2.76	11,454.00
Ordei	rs Construction Cor	npany, Inc.		1.40	5,810.00
Lanfo	ord Brothers			2.42	10,043.00
ENG	INEER'S ESTIMA	ГЕ		1.50	6,225.00
63504-1000	SQFT	TEMPORARY TRAF	FIC CONTROL, CONST	RUCTION SIGN	
Burle	igh Construction C		810	20.00	16,200.00
	sinet, LLC	- ·		18.00	14,580.00
•	rs Construction Cor	npany, Inc.		61.00	49,410.00
	ord Brothers	- •		55.00	44,550.00
	NEER'S ESTIMA			29.00	23,490.00

Page 5

Date: 08/21/07

TABULATION OF BIDS

Bid Schedule A

Project No.: PRA-BLRI 1M19

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63506-0500	HOUR	TEMPORARY TRAFFI	C CONTROL, FLAGG	ER	
Burle	igh Construction (Company	160	13.80	2,208.00
Freys	sinet, LLC			13.80	2,208.00
Order	rs Construction Co	ompany, Inc.		13.80	2,208.00
Lanfo	ord Brothers			13.80	2,208.00
ENGI	NEER'S ESTIMA	ATE		13.80	2,208.00
63507-0800	DAY	TEMPORARY TRAFFI SIGN	C CONTROL, PORTA	BLE CHANGEABLE N	MESSAGE
Burle	igh Construction (Company	8	225.00	1,800.00
Freys	sinet, LLC	•		724.00	5,792.00
Order	rs Construction Co	ompany, Inc.		17.00	136.00
Lanfo	ord Brothers			75.00	600.00
ENGI	NEER'S ESTIMA	ATE		300.00	2,400.00
63701-0000	EACH	FIELD OFFICE			
Burle	igh Construction (Company	1	25,000.00	25,000.00
Freys	sinet, LLC			37,602.00	37,602.00
Order	rs Construction Co	ompany, Inc.		18,000.00	18,000.00
Lanfo	ord Brothers			55,000.00	55,000.00
ENGI	NEER'S ESTIMA	ATE		38,000.00	38,000.00
64502-0000	EACH	LOCATE UTILITIES			
Burle	igh Construction (Company	4	1,400.00	5,600.00
Freys	sinet, LLC			442.00	1,768.00
Order	rs Construction Co	ompany, Inc.		1,500.00	6,000.00
Lanfo	ord Brothers			500.00	2,000.00
ENGI	NEER'S ESTIMA	ATE		500.00	2,000.00

Bid Schedule A

Project No.: PRA-BLRI 1M19

Project Name: BLUE RIDGE PARKWAY BRIDGE OVER GLADE CREEK, SECONDARY ROUTES 658, 738

BID ITEM CHECK PASS

Date: 08/21/07

Bidder	Item No.	Bidder's Extension	Computed Extension
Burleigh Construction Company	55206-0000	2,800.00	28,000.00
Freyssinet, LLC	56302-2000	33,170.00	330,770.00

Bid Schedule A

Project No.: PRA-BLRI 1M19

Project Name: BLUE RIDGE PARKWAY BRIDGE OVER GLADE CREEK, SECONDARY ROUTES 658, 738

BID TOTAL CHECK PASS

Date: 08/21/07

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Burleigh Construction Company	1,287,230.50	1,287,230.50	
Freyssinet, LLC	1,374,794.00	1,374,794.00	
Orders Construction Company, Inc.	1,515,366.00	1,515,366.00	
Lanford Brothers	1,769,005.00	1,769,005.00	

The apparent low bidder is 7 % above the engineer's estimate.